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Math 2 — Unit 8 Notes and Homework Packet

Day 1: Corresponding Parts of Congruent Triangles are Congruent (CPCTC)

Corresponding Angles Corresponding Sides
EF, A8
\( /%, 2k Ac. oF
|
r &7 ¢, 2D

Mark and name the corresponding angles and the corresponding sides of each pair of triangles

A
1. : 2. X
A A |
C D E
Y
B c

Try without a picture:

3. ADOG = ACAT 4. AHAM = APIG
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Homework 8.1
Name all of the congruent sides and angles by using the following congruence statements.

1. ADEF = AK]JI 2. ABAC = ALMN 3. ATUV = AGFE

Complete each congruence statement by naming the corresponding angle or side.

4.FD = 5. A =

K ] A Mvi
aﬁﬁc

Jkr

Mark the corresponding congruent sides and angles using the correct markings.

6. ATUV = AGFE 7. AZXY = AZXC
.
F\/G |
E X z
T v
[
8. ADEF = ADSR E F 9. AWVU = AGHI

W v I
\ \/ /\
U G H




Day 2: Triangle Congruence Theorems: SSS, SAS, ASA, AAS, and HL

Congruence Postulates

SSS: STA\Q-STJ& -Gl

% 5 %’Pairs ~ Sidey
P\Z/\\g\ OZﬁﬁF AMBCE ApeF by S5

sAs: go\l Amqh Sda - Zpazr) > chog
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& ﬁ AN P BC ZDeFL S 4

A(\q( SMAV\Q Z—Par:o‘F— ca/\ylej

S das belwien =
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f\/\‘ﬂt AN]LQ SiAhe ZP@Z ;’:'v\;'m&n_\‘z_“;a f:g-[;zaaj

A K\\ N\ ABCE ADEF 5/4/@
F

i Ay 4 tnse Loy  Ruht A, el hypitenses =
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More Congruent Triangles
identify which property will prove inese riangles congruent. (SSS, SAS,
ASA., AAS HL or none)

“ 10 7 X / \ 7
5 . -
i Ol

12. 13. 14. 15.




Which postulate would you use to prove the triangles congruent?

1. HVW” D E
C F

ABCA = A

Reason:

ACAB = A _
Reason:
0
5.
E
L \
AOLE = A
Reason:
7 H P
A
T
i
AHAT = A

Reason:

2. B E
A L}{ %
;\(I F

AACB = A
Reason:
4. B /é\
A /ﬁ\f D .-
ABAC = A
Reason:
L §]
6.
G E
AELG = A
Reason:




Homework 8.2 a:

Which theorem would you use to prove the triangles congruent?

)J H

14 TRE S Ry

(9) (h) (i)

If the triangles are congruent, complete the congruence statement If they’re not cong ruent, write NONE
C

: : W
A
ACAB = ARTS = A N
Reason: Reason:
N D c
3 1 4
E E
BR A B
A [ B
ADCE = A ADEC = A

Reason: Reason:




Day 3: Proofs

A
2 Column Proof
Statements Reasons
1. AC = EC 1. Given
2. BO = Do 2. Given \/er-\—L\S 3_«
3. FJACB® AECD 3. Vertical Angles Theorem
4, MABC Z AFEDC 4. SAS Postulate
D
1. Prove APNR = APQR
p Statements Reasons
N Q PN =74 (5
—_— Jl/a
; ve = Qr 1
R
5 Prove AWXY = AAZY Statements Reasons
wl\
X Y\J 4
A
3. P APOS = APRS
rove APQ Statements Reasons

Q
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Statements Reasons
(o= AB 6
v
c RB=Z740D (
/ N

—_—

SACED =as) Aks

5. Pr Stateme_nts Reasons
yNzLm |
NRZ MK C Vs,
Z N = <M

SAKMTZ Ak, O AS

- .Ah\:r = ZM . K’K = M I\
IN = M N

6. P W Statements Reasons

S S| Give,
PZOL\Q PT=TR b/c b ree

STZ AT

—_— R ~ . /
Given: SQ and PR bisect each other LSTRZ «PTQ U(’r-'fzc/t Z S

2ctnzoar SAs

7. Prove AABD = ACDB Statements Reasons
C \ p L —
Ab="cbD G
/-,_\' ~ ,\V(?,\
D ="C}

Given: AB=CD, AD=CB
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Homework 8.3

Complete the 2-column proofs

L Prove ABC =~ AEDC Statements Reasons
A D
Given: AE Bisects BD, £B=«D
2. Prove ACAB = ACDB Statements Reasons
B
A — D
Given: AB=BD
3 Prove AABC = AEDC Statements Reasons
A D
C
B E
Given AB ||ED, AC=EC
4. Prove ALMN = APON Statements Reasons

M N 0

Given: N is the midpoint of MO.




Day 4: Isosceles Triangles

vertex

\,4y+(,o:lgo
LY bo=tlge
Y= (p0°

s\
X 75°

X+15+ 75 =lfo
X'I"(ﬁd:@o

Y

Xt 62+67 =4,
=X
h X1 (24—,
ézo /t: S_éo
Go

V465165 = 4

V1130 =0
Y=0Co

X‘fsi)-l-fo :[d.'o
X‘HGO:/f(_,
X =g
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Isosceles Triangle Proofs
7. Given: £ D= £ E
A 15 the midpoint of DB

B is the midpoint of AE
Prove: ACDA = ACEB

D

Statements Reasons

8. AABC is isosceles
D is the midpoint of AB
Prove: AACD = ABCD

A

Statements Reasons

=]

9. ARXY isisosceles
2£Q = /£S
QP = ST
Prove APQY = ATSX
Statements Reasons

m




Homework 8.4
Part 1: Solve for xand y

1.

Part 2: Complete the triangle proof

5. T is the midpoint of RS and QP

Prove AQRT = APST

Statements Reasons




